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QUESTION 1

When defining membership for a security group, which three identifiers can be used for dynamic inclusion? (Choose
three.)

A. VM folder

B. Computer OS Name
C. ESXi host

D. VM Name

E. Security Tag

Correct Answer: BDE

QUESTION 2

A Service Provider is using VMware vCloud Director with VMware vCloud Networking and Security (VCNS) on vSphere.
Which two products will be impacted by the upgrade of VCNS to VMware NSX? (Choose two.)

A. ESXi hosts

B. NSX Controller Cluster
C. vShield Manager

D. vCenter Server

Correct Answer: AC

QUESTION 3

What is one of the benefits of using logical switches in an NSX environment?

A. Quality of Service parameters are automatically configured in a logical switch.

B. The physical infrastructure is responsible for maintaining the logical switch broadcast tables.
C. The physical infrastructure is not constrained by MAC/FIB table limits.

D. IP subnet definitions can be migrated into logical switches using the NSX Manager.

Correct Answer: C

QUESTION 4

What is required before running an Activity Monitoring report?
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A. Enable data collection on the NSX Controller.
B. Enable data collection on the vCenter Server.
C. Enable data collection on the NSX Manager.

D. Enable data collection on the virtual machine.

Correct Answer: D

QUESTION 5
An organization is planning to use NSX as part of a disaster recovery project to provide consistent networking between
two sites. Each site has one vCenter server. The organization requires universal objects and requires components to

function during a site outage.

What is the minimum total instances of NSX Manager(s) and NSX Controller(s) that must be deployed across both sites
to support the required functionality?

A. Two NSX Managers and two NSX Controllers
B. Two NSX Managers and six NSX Controllers
C. Two NSX Managers and three NSX Controllers
D. Two NSX Managers and four NSX Controllers

Correct Answer: C

2V0-642 PDF Dumps 2V0-642 Practice Test 2V0-642 Braindumps

2V0-642 PDF Dumps | 2V0-642 Practice Test | 2V0-642 Braindumps 3/3


https://www.leads4pass.com/2v0-642.html
https://www.leads4pass.com/2v0-642.html
https://www.leads4pass.com/2v0-642.html
http://www.tcpdf.org
https://www.leads4pass.com/2v0-642.html
https://www.leads4pass.com/2v0-642.html
https://www.leads4pass.com/2v0-642.html

